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REES  szx et 2x4 2 X6 2 %8 2x4 2 X6 ohoE 2x4 2 X6 2 %8 L)

BURHTE Higkt (A=)

{mm)] (n - K/W] FE|EAREIMmM F|EAR140mm F;EAR184mm = TH#89mm J=TH140mm - BA89mMm BA140mm BA184mm —

40 = - 0.773 0.773 0.773 0.854 0.854 - 0.678 0.678 0.678 0.592
45 - - 0.702 0.702 0.702 0.781 0.781 - 0.621 0.621 0.621 0.532
50 = - 0.644 0.644 0.644 0.721 0.721 - 0.573 0.573 0.573 0.482
55 — - 0.594 0.594 0.594 0.669 0.669 - 0.532 0.532 0.532 0.441
60 = - 0.552 0.552 0.552 0.624 0.624 - 0.496 0.496 0.496 0.407
65 = - 0.515 0.515 0.515 0.585 0.585 - 0.465 0.465 0.465 0.377
70 = - 0.483 0.483 0.483 0.551 0.551 - 0.438 0.438 0.438 0.352
75 = - 0.455 0.455 0.455 0.520 0.520 - 0.414 0.414 0.414 0.330
80 = - 0.429 0.429 0.429 0.493 0.493 - 0.392 0.392 0.392 0.310
85 — - 0.407 0.407 0.407 0.468 0.468 - 0.373 0.373 0.373 0.292
89 = - 0.391 0.391 0.391 0.451 0.451 - 0.358 0.358 0.358 0.280
90 — - - 0.387 0.387 - 0.446 - - 0.355 0.355 0.277
95 = - - 0.368 0.368 - 0.426 - - 0.339 0.339 0.263
100 = - - 0.352 0.352 - 0.408 - - 0.325 0.325 0.250
105 = - - 0.337 0.337 - 0.391 - - 0.311 0.311 0.239
110 - - - 0.323 0.323 - 0.375 - - 0.299 0.299 0.228
115 = - - 0.310 0.310 - 0.361 - - 0.288 0.288 0.219
120 - - - 0.298 0.298 - 0.348 - - 0.277 0.277 0.210
130 = - - 0.277 0.277 - 0.324 - - 0.258 0.258 0.194
140 - - - 0.259 0.259 - 0.303 - - 0.242 0.242 0.181
150 = - - - 0.242 - - - - - 0.227 0.169
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20 - - -

25 - - -

30 - - -

35 - - -

40 - - -

45 - - -

50 — - _

55 — - _

60 — - _

65 — - _

70 — - _

75 — - _

80 - - _

85 - - _

89 - - _

90 — - _

95 — - _

100 = - —




